REDUCTEUR EN ARBRE PARALLELES
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(x0,5) (H7) 3-18 125-180 Kg
RAP60 |60 |45| 70 |3|32|24] 8 |12| 30 |40 1004
O,0iet@W: RAP70|70|55| 82 |3]32|30| 10 |25| 32 |42 15 10,65
voir croquis ci-dessous T E H RAP80|80|6,6| 94 |3|32/34| 10 |25| 42 | 425 |15] 1,
RAP90|90 |85 | 104 |3|32|38| 12 |25| 42 |60 1815
RAPS90/90 (85| 104 | 7(38|34| 15 |25| 65 | 65 1815
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@ S \\l BD60| 385 26 |125| 2 | 54 70 4,5 60 0,2
32 \ BD70|43 | 30 |13 2 | 64 82 55 70 0,3

’ BD80| 455 32 |135| 2 | 73 94 5,5 80 0,4
@i Q/ BD90| 55 | 37 |18 2 | 83 | 104 6,5 80 0,6
Na BV
BDS 90 | 61 40 | 21 2 | 83 104 6,5 90 0,6
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BIESENEULLE RAD x taille x 1/rapport | L & £ 2 E 5 -
(£1) (+0,5) [(£0,25)| (1) [(=*0,25)
RAD 90 | 107 78 39 12 45 104 29
RADS 90 | 1175 82 41 17 50 118 30
H 0i P Q 0J 0K Poids
(1) (H7) Kg
RAD 90 32 6,5 4 10 36 12 2
RADS 90 38 6,5 7 12 34 15 2,5
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